


In the question below, a sentence is divided into four 

parts out of which one part has an error in it. Find the part 

with error and mark that as your answer.



She added a little (1)/water to the sauce (2)/to adjust the 

consistency (3)/before serving it (4)./ No error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



This has brought immense relief (1)/to the passengers, 

marking (2)/a crucial moment by the (3)/city’s public 

transportation history (4).No error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



Transport and industries (1)/are the two (2)/dominant 

source of (3)/pollution in the city (4).No error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



Beside the joy of (1)/raising my five children, (2)/I wake 

up each morning (3)/eager to learn something new 

(4).No error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



A modern network must be (1)/able to respond easily, 

quickly (2)/and flexibly to the growing (3)/of today’s 

digital business (4).No error (5)

1. 1

2. 2

3. 3

4. 4

5. 5



A passage is given below with six blanks. You have to 

choose, among the given options, the best possible 

alternative for each blank.



Many things are lost in ______(1). Those halcyon days we remember were 

perhaps not so happy after all and sometimes we also ______(2) on the hurt 

and pain so firmly cast on our memory. Memory is packaged information to 

help us deal with the present and plan for the future. In the memorable 

words of Salman Rushdie in his The Midnight’s Children, “Memory 

selects, eliminates, alters, exaggerates, minimises, glorifies, and vilifies also 

but it creates its own reality, its heterogeneous but usually ______(3) 

version of events and no sane human being ever trusts someone else’s 

version more than his own.” It is also the ______(4) of memory that we 

remember random events for no ______(5) reason whatsoever except that 

they come to us unbidden in chance moments.



Many things are lost in ______(1). Those halcyon days 

we remember were perhaps not so happy after all and 

sometimes we also ______(2) on the hurt and pain so 

firmly cast on our memory. 

1. ?

1. consumption

2. transit

3. pressure

4. culmination

5. None of these



Many things are lost in ______(1). Those halcyon days we 

remember were perhaps not so happy after all and sometimes 

we also ______(2) on the hurt and pain so firmly cast on our 

memory. 

2. ?

1. perorated

2. imbibe

3. dwell

4. placate

5. None of these



“Memory selects, eliminates, alters, exaggerates, 

minimises, glorifies, and vilifies also but it creates its own 

reality, its heterogeneous but usually ______(3) version of 

events and no sane human being ever trusts someone else’s 

version more than his own.”

3. ?

1. coherent

2. imaginary

3. critical

4. sceptic

5. None of these



It is also the ______(4) of memory that we remember 

random events for no ______(5) reason whatsoever 

except that they come to us unbidden in chance 

moments.

4. ?

1. contour

2. hypocrisy

3. terrain

4. vagary

5. None of these



It is also the ______(4) of memory that we remember 

random events for no ______(5) reason whatsoever except 

that they come to us unbidden in chance moments.

5. ?

1. explicable

2. protract

3. sacramental

4. emanate

5. None of these



In the following questions two statements have been given 

with connectors given as options. You have to select that 

option which could connect both the sentences and make 

them grammatically and contextually correct.



1. India has been unhappy with Canada for many years 

over how it has dealt with criminals and terrorists.

2. India did not resort to expelling diplomats.

1. Because

2. But

3. And

4. Whether

5. None of these



1. Every election brings forth new slogans and themes 

promising the uplift of weaker sections

2. The percentage of reservations continues to increase 

without achieving significant process on the ground.

1. Yet

2. If

3. As

4. Owing to

5. None  of these



1. These bank accounts were equipped with debit card 

features.

2. Only half of the surveyed women reported a familiarity 

with using a debit card to withdraw money from ATMs.

1. Because

2. Yet

3. Although

4. If

5. None of these



Each question below has two blanks. There are five pairs 

of words below the sentence. From the options, choose 

the one that gives the correct combination of words that fit 

in the blanks.



India is rapidly advancing in space exploration, having 

achieved the _______of landing on the Moon’s southpole

and ________ a reputation as a cost-competitive space 

industry.

1. setback, dispersing

2. feat, garnering

3. milestone, stocking

4. disparage, establishing

5. None of these



The chronic _______of officers in the CBI has 

considerably ________the efficiency of the agency’s 

work.

1. shortfall, hampered

2. attrition, aided

3. failure, improved

4. upgradation, assisted

5. None of these
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